
Revo Torque Mount Kit Focus RS MK 2/3 

 

 

RF011M500100 

onlyrevo.com 

  

Description  

Revo Rear Mount 1 

M12x80 Hex Head Bolt 1 

M12 Flange Head Nut 1 

M12 Internal Lock Washer 1 

 

Tools Size 

Ratchet  

Extention  

Sockets 15, 19mm 

Spanner 17, 19mm 

Copper Grease  

 

Before starting, please 
ensure that the engine 
is cool. Engine 
temperatures can 
remain high for a 
substantial amount of 
time after use. 



Revo Torque Mount Kit Focus RS MK 2/3 

 

 

RF011M500100 

onlyrevo.com 

Remove the rear bolt from the mount and slide out of the 
housing. 

 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 

 
 
 

 
 

 
 
 
 

 
 
 

 
 

Remove the under tray from the vehicle to gain access to the 
mount. 

Remove the front bolt on the mount, then remove the 3 x bolts 
holding the mounting plate to the gearbox, once you have 
taken these out you can remove the plate from the car. 

1 

2 

3 

Assemble the new Revo mount to the plate you removed, as 
shown, using the supplied M12 bolt, M12 washer and M12 nut 
and then tighten. Note: the Revo logo must be facing down. 
 

4 



Revo Torque Mount Kit Focus RS MK 2/3 

 

 

RF011M500100 

onlyrevo.com 

 
 
 

 
 
 

 
 

 
 

  
 
 

 
 
 
 
 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Refit all OE parts back to vehicle. Reinstallation is the reverse 
of removal. Follow any factory torque specification during 
reinstallation of OE parts. Test drive the vehicle to ensure 
everything is okay. Your installation is now complete! 

7 

Apply a small amount of copper grease to the top and bottom 
of the bushing. Next slide the new Revo mount into position 
and secure in place using the bolt you removed earlier and 
torque to 80Nm. 

Reinstall the 3 x bolts holding the plate to the gearbox you 
removed earlier and torque to 40Nm. You may need to lever 
the gearbox to align all the bolt holes. 

5 

6 

* Dealer note: please hand the “Assembly Sheet” to the customer to retain for their records. 
 


